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POWER SYSTEM -1
fratfte g Vader ) [srfram 3% 30
Time allowed : 12 Hour] [Maximum Marks : 30

FT . (i) @ FT Hfqad Eud sEm gl FEE R
Note : All Questions are compulsory and each question is of 1 mark.
(i) = e 7 o @17 F faafy § sfist sqEm B wrr & )

Only English version is valid in case of difference in both the languages.

1. amyfe W o b B o @ fea 1. On which one of the following cycles
o W B wE E 2 does a modern steam Power Plant
(a) A TH works ?
(b) TVFr =% (a) Carnot Cycle
(c) it 5 (b) Rankine Cycle
(d) TA-FoWT TH (c) Otto Cycle
(d) Bell Coleman Cycle
2. UF AmhEE fowet § Wew (W) #@1
FEE 2.  The function of moderator in a
- Nuclear reactor is
E;)) Eg %ﬁg@_i:ﬂ (a) To absorb the excess neutrons.
(c) =gt Fr ik S e (b) To increase the energy of the

neutrons.
(¢) To slow down the neutrons.
(d) None of the above

(d) IR H 9 HE
3. e vl 947 1 3uanT fee o ) fee

Y fepr e & 0 3. Diesel Power Stations are used as
(a) St Y (a) Primary Station

(by et gfve (b) Stand by Unit

(c) WM RVH (c) Mobile Station

(@) I e (d) Al of the above
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T N IUEA W uwied w9
HAEH &

(a) T9HE (by pHTH
() WRYET (d) ST T
W% O W A1 ST ST i 4
FIAEHT 5 BT &

(2) TR o (b) 3mif
(c) 3 (d) IudEa ot
I T H YF 9T § T_oH F A0
fr= 4 @ frg Qe Suwor & I R
frmsmr 2

(a) WK FH

(b) | FH

(c) urer fest

(d) T 8 =g

Fre e iafad s &

(a) VST For i forga wor |
(b) e fafeont =t faem w1 |
(c) vy fafeot &t ardg S
(d) TG At @t fawE s |

et v

(a) R wrE 7 T SARE
S I Bt &

(b) U= TG ITH qW AR
e FH Fer ¥ o

(c) uiEmm wra o ey @
T S A E |

(d) ufEe ome aar ets e
TR A E |
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Factors affecting generation of biogas
are

(a) Temperature
{b) pH value

(¢) Loading rate
(d) All of the above

In closed cycle ocean thermal energy
conversion method working fluid is

(a) Sea water

(b) Ammonia

(¢c) Air

(d) All of the above

For water distillation which solar
equipment is used ?

(a) Solar cooker

(b) Solar dryer

(c) Solar still

(d) None of the above

The solar cell converts
(a) Chemical energy into electrical

energy.

(b) Solar radiations into electrical
energy.

(¢) Solar radiations into thermal
energy.

(d) Thermal energy into electrical
energy.

In Hydro Power Plants

(a) Operating cost is low and
initial cost is high.

(b) Operating cost is high and
initial cost is low.,

(c) Both operating and initial cost
are high.

(d) Both operating cost and initial
cost are low.
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9. T & TOERrE A ¥
(a) €N, 9a=, FEEE

10.

11.

12.

13.

14.

(b) IHE!, TY] STatere, Fy FET
(c) ey 3y, wter, et whes word
(@) {5

= d & frofew & ma EuRs a|
TF Fege H WE I@M W ARG AT
¥o

(a) M wiew @@ o Eew @

TERT F T

(b) v i W9 A &9 TG &G
& T

(¢ e whR W@ od we
fafraae oo e o

(d) T8 FETE

g U e ° ¥ fRe-fee & v o

NG &7

(a) UHE WY T
(b) YN F |y TET
(c) WU F Y 9T
(d) ¥ & T T

U HHG A9 e W9 H A
Xaret et @t & 9
(a) 30-40%

) 20-25%  (d)

(b) 45-55%
60 - 70%

Tty fergue ufwar & Fifam & few
IMZHIEIT HT IUGRT {41 AT € 2

(@) U,y (b)
(¢} U233 (d)

U235
U238

HieR a9 =1 3 A fve e & = B
£

(a) UeghFEw
{c) faferra (d)

(b) “MfFHEH
Fefrag
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The conventional sources of energy
are
(a) Solar, Wind, Biomass
(b) Wood, Animal waste,

Agricultural waste

(¢) Fossile Fuels, Water, Radio-
active substance

(d) None of the above

A penstock is used as a conduit

between

(a) DBoiler and turbine in Thermal
Power Plant.

(b) The dam and turbine in Hydro
Power Plant.

(c) The heat exchanger and turbine
in Nuclear Power Plant.

(d) None of the above

Hydro graph is a graph between
(a) Discharge with time

(b) Discharge with load

(c) Load with time

(d) Energy with time

What is the approximate efficiency of
a normal Thermal Power Plant ?

(a) 30-40% (b) 45-55%
{cy 20-25% (dy 60-70%

In the nuclear fission reactions,
isotope of uranium used is

(@) Uy, () Uy

(€) Up; (d) U,y

Solar cells are made of which
material ?

(a) Aluminium (b) Germanium
(¢) Silicon (d) Cadmium

P.T.O.
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TR F god w@ F fow w9 |
Iusol w9 § foa s € 0

(a) EW (b) W
(c) o fret (d) =R

Tt g @53 § qeg o saR §
(a) T

(b) RN

() Shwmar

(@) T8 FE T

4 T v Sar e 0 @ et
UG e R S e € 2

(a) THTHA Wie RS
(b) i dumEw
(c) TR A
(d) S0 o J HiE o

T v TETIE B ¥
(a) TMAFITF
(b)y THAFHF
(c) IXFALF TS
(d) SWETEHF

o g e G4 § HutA § S &
fore g S &

(a) TEIEHAE (b) SR A
(c) FAwwEd (d) afmausd

w e fuwe ® gaen i
foreifrer =t et &

(a) VT BT EN
(b) Seham sg e
(c) VFRE BT EW
(d) e BT EN
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Which equipment is used for
pulvening the coal ?

(a) Hopper

(b) Stoker

(c) Ball mill

(d) Burner

The main by-product of the biogas
plant is

(a) Biomass

(b) Biogas

(¢) Organic manure

(d) None of the above

Solar thermal Power generation can
be done by using

(a) Flat Plate Collector

(b) Concentrating Collector
(¢) Solar Pond

(d) Any of the above

Wind Power is proportional to
(a) Air density

(b) Cube of the wind velocity
(c) Square of the rotor dia
(d) Ali of the above

A Condenser in a Thermal Power
Plant Condenses steam coming out
from

(a) Turbine

(b) Boiler

(¢) Economizer
(d) Superheater

In a nuclear reactor chain reaction is
controlled by

(a) Ironrod

(b) Cadmium rod
(c) Graphite rod
(d) Brassrod
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(c) § T
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(a) wufwd
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(c) Treaie 7 aTg g §

(d) A

It g ¥ Fufea gt &

(a) Faer Hg=

(b) HYT T HREA TEHEFAES
(c) et To7

(d) feawiw

F R W ¥ grERE qaEE

o § 9§ 59 gem & forg 3w e
ST ¥ 2
(a) ¥ (b) & H

(c) T@HHK (d) IuE I

i vIfe €4F # 91g WgNUT @ %M
FH F fow fr & 9 9 W IUFO
vt g s & 9

(a) i agE

(b) & AE

(c) Ter SRF sages

d) TEE WA
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High output diesel engines are started
by

(a) Self starter

(b) Compressed air

(¢) Battery

(d) Cranking

In a thermal power plant heat from
the flue gases is recovered in

(a) Condenser

(b} Chimney

(¢) Economiser and Air pre-heater
(d) Turbine

Bio-gas consists of

(a) Only Methane

(b) Methane and Carbon dioxide
(¢) Only Ethane

(d) Organic gas

In coal preparation plants the
magnetic separation are used for
removing

(a) dust

(b) iron particles
(¢c) clinkers

(d) All of the above

Which of the following equipment is
installed in Thermal Power Plant to
reduce air pollution ?

(a) Superheater

(b) Air pre-heater

(c) Electrostatic precipitator
(d) FDFan
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o1 Vi 4 o ¥9 / e 9 4 feas
forw avger ¥ 2

(a) P

(b) SR ¥R

(c) TR s uw At

(d) 9 A B E

T A9 S TR § fge o

T fr § @ e osmm W

i & 9

(a) T TS A A9l e W S
% O WIHASH T9 AR

(b) dR fafeor

(c) TEA AT

(d) T I

T 3T (ST ) G FA & o
S feean Sar &

(a) Ied Omt (b) W
() f=edw (d) aea

frg F 9 fow wie & & w@rm
arfuram € 0

(a) T iw @49

(b) WIS Wi WI

(c) ST vifee wa

(d) "Ry wfea T4

frg 4 & fom oign 993 ° WEeE %
faw == wwerRw  Afddet )
FTEeasT e & 9

(a) ST ¥Ry WAF

(b) T wis HIF

(c) v e wgx

(d) e afe ¥
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The Hydro Power Plants are well
suited for
(a) Peak load
(b) Base load
(c) Both Peak and Base load
(d) None of the above

The generation of electric power from
ocean thermal energy conversion is
based on the utilization of the

(a) Natural temperature difference
between the warm sea water
and cold sea water

(b) Solar radiations
(c) Wind velocity
(d) None of the above

To avoid water hammer is
used.

(a) Spill way
(b) Dam

(c) Surge tank
(d)y Valve

Which of the following plants has the
maximum capital cost ?

(a) Thermal Power Plant
(b) Hydro Power Plant
(¢) Diesel Power Plant
(d) Nuclear Power Plant

Which of the following power plants
need highly skilled/qualified

engineers for its operations ?
(a) Hydro Power Plant

(b} Thermal Power Plant
(¢) Nuclear Power Plant
(d) Diesel Power Plant
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POWER SYSTEM-I

Fratfa wg . f=we ) [orfaman 3w : 70

Time allowed : Three Hours] [Maximum Marks : 70

iz -

Note :

(i1)
(iii)
(iv)

(v)

(i)  wem ge i & v 4 | frel uha & I aieeg |
Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) W T % QT 9T B HEER U 6T E B
Solve all parts of a question consecutively together.
(iii) TeIE q9 F T T T I T |
Start each question on a fresh page.
(iv) T STTST & SR gl 1 ety 7 SRt s & A &

Only English version is valid in case of difference in both the languages.

SHaren war sy $Ua § o FQ |
Compare fossil and nuclear fuel.
figama wefa @ 319 =7 wEE & 0

What do you mean by draft system ?
TiepIa SEeT ST THETsd |
Exptain nuclear chain reaction.

A ity Bt TR |

Explain Solar Stull.

I % T fAfay
Write properties of biogas. (2x5)

it e 7 & v I R e W i e b ) e

On what factors does the site-selection of thermal power plant depends ?
Explain.

AT TG AT S ST HIAT |

Describe superheater and reheater. (6%2)
7 P.T.O.
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3, (i) ARt vt s e et o e i
Classify hydro-electric power plant on following facts :
(@) T VaTE ,
Water flow regulation EE.
(b) WR
Load
© % *
Head
(i) AT Tt W % o v aE s |
Explain the advantages and disadvantages of hydro-electric power plant. (23, 6)
4, () TRE] S GEA W e YU S B THAE | forat
Explain safety measures required in nuclear power plant. Tim
(i) v e w1 s e aen fafirt vest @ e H S i |
Draw the diagram of nuclear reactor and describe its different components in T
brief. (6x2)
Not
5. (i) R Rl e e Wi T R o i |
Describe solar central receiver Thermal Power Plant with diagram.
(i) WA ¥ e RS, TRt T TSN} WS 7 FolA HivT |
Explain transparent, insulating and absorbing materials related to Solar-cell. (6x2)
6. () T v et ) s e | -
Describe different wind mills.
(i) TS FA % @V UF i Ay |
Write advantages and disadvantages of wind energy. (6x2)
7. (i) SR % TR H AR R A R G |
Explain the factors affecting production of Bio-gas.
(i) R AT SR i T S |
Describe fixed dome Bio-gas plant. (6x2)
8. Frerd @ fedl & or it femfort ot -
Write short notes on any two of the following :
() ST e Wi F TN o g 2.
Advantages and disadvantages of diesel power plant.
(ii) WA I
QOcean energy

(iii) TTEEA F TFR
Types of turbine (6>2)




